WORKSHEET 1
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ﬁy'a?; HIYPTT (Integers)

mm"

-3 -2 -lO 1T 2
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-

t t ™

-8-7-6-5-4 345673
(@) -4»F 6F AfthT IuT I TIE| Represent—4 and 6 on numberlme
(b) 3w -7 E‘i‘ﬂfwﬂ‘rﬁwéml Represent 3 and—7 on numberlme
- ¥at AES 991 Fill mggbhnks. B ; ﬁ" .
@ 8+ (4)= &~H -8 (-5)+8 .
®  7+(-10)= ﬂf?’“,ﬁg |
O e | OOOOE)
@ 3+1- (19)_"*“ 5> e 43
% "‘Z'f‘ G197 = ’"‘;‘Df?ﬂ —
’GTEEEESUBT'GH\ l‘mdthe product, 54 - grarddl Divide.
@ 55)x15=_— g9 & @  (30)+10=_— 7
® ENxE18) = 412t (b) (36)+(=9 =+ -éﬁ
O EOENxEn=ony ©)  50+(-5)=_Ss _
® =i o S

3.

ﬂ?gf%mmnua?rnfuwxnﬁmrw%efmfe—a __ USSR g

When rwo negative integers are added we geta
@a'mla-ﬁnﬁ:m”uafaa’ﬁm?(— 1)mmfﬂ%‘6m ;_;x

Determine the integer whose product W1th (= 1) is zero.

U?rfearmzﬂnfrmmwfww@(a b) € H°F

e —

integer.

Q

Sfeagtfa o b=-3 31 femggrerfda s

(6,-2) Ufa@ﬁ 6+(-2)=(=3) T/ Write five pairs of integers (a,b) such that a+ b =
one such pair is :(6,—2) because 6+ (—.2_) =(-3).

N —1S

(i) fafé =

Hx0=_0

omplete the boxes.

.. —2) _
(w)_,/%_ v 21
(©) (75)< 7L =~
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- SRR I, N ¢ P

10, WItared & S= &1 Choose the correct baloon,

@ 13y 34

CNx=6)= Y2 .(c) 30+(=3) =
/Z/[Q

—
- -
IRESEN ’
~
2 (o)
ﬁ S

LD
( )

I
YN

A
4 L

e < . ’
\ / \
foas] ,}) : r’f/ &

ﬁ%f&ﬁ"sﬁfa a-b=8 3 fer gt e fey
5)-(~13) =8 1/ Write five pairs ofncgativ¢ integers (a,b)

11.. W”ﬁﬁ@m%m (a,b) &
R (5,-13) ey -
suchthat a—-5=8§, Oné
(i(ﬂLQQ (ii)(ﬁ&l'y(iii)éﬁj:(:@iv)eﬂéﬁ M- ), =
2 10URST =S ' i Bne fe', aie ote €99 @ 4 e oS 1 ae i a1 g O
'6'11 8{94 (-2 g v TS 7 U T 0t 3, O O 5 et st v G

LB

such pairis (~5,~13) because (~5)— (=13)=8 |

() e63™IT (i) s3BWTIE (i) 13T
Inaclass test containing 10 questions, 4 farks are given for every correct answer and (- 2)

marks are given for every incorrect answer: Gurpreet attempt all questions. What will be her
score.if ;

are correct (1) 3 of her answers are correct (iii) 1 of her answer is correct

Y =9 | géjq 22 ot ] 18R = [*Y =
L7 8 TR 2ene ]y | T gL = THd -18

g2 J¢g, dl U3 T/ Using sq:r"iil:;c’fbimula find the product. L

)x (34)=_—3% (;1‘1'-#(*2“1;) £-38%~]o = 428

) x (10)=_2A KX |00 XJo = xa¥X—|oes- —Q2osx
525)x 65=_ <S9S (\"25 —-@9 = SASA=Jod~-%og, .
ABMEN 03 1 &7 <9 T € BE v+ (p+2)# (v-L0) +(ves) S R Ur T
s of x,y and z, chéck whether the relation NH(R2) 2 () (D)

XD = & 29+ (rzz)

'? & ";F-L/gp?l
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WORKSHEET - 2 fgat ”@W ERIES)
(Fractions And Decimals)
1 | fe'gTnzRT Bt eTASSS UITaT |/ Find sum according to given pictures,

2.
3. | v ~r P54 38 4 22
A5 3 e TG | Tras WTHs+o= oy 29
4 ﬁm?gfaxr TTHSES USTET | p ind the sur of foilowing mixed fractions .8
| . c apes | —545 4 62 _I=1
| () 446l 34-?—/—:' e S O CASN
S 2 s 2 5 < Sral (i) 2m+5§= ~hit 8
e 5 ﬁwmﬁ#?mw#&'l/ﬁndthe product of fractions aceg

«.,)J;...‘ Z " vzl % o ilie '% P%% " (ii) % ‘

P
\ AT WrTE g N
F31/ Fingd Protluct,

% @n%w=?

3
1’ TWS.02
Scanned iy CamScanner

Scanned by CamScanner



.. N e & .
8. fost ?m@aﬁl / Find division of Fractions
LN 202 '
() ;“3" 3 bk il X 2 g Giy =+2= 1 43
53:,5535@(»? 273" 35
9. finfag fewt & gvars UzT&F 1/ Find division of following mixed fractions >

~ Ao gl ' - :
(i) 4—+4§= Qgg - '; 3374,“ (ii)31—+4z=' [¢ 2

_ 14
1R 573 =T 3
10. H"&’tE‘ETE‘o’l/I1|lmlhcbl’mks,——C,7 — % 3 — ’;H
5 T s w4 T T
Raar | <ot | feqet i et Tget fifipur
(100) (10) (1) (1/10) | (1/100) | (1/1000)
7 _ 1 -3 2 372.132
S- =l o | <2 2 0 570.320
K 5 1 | 9 3 7___115]-9317
11. f?ﬁfsgw.%fgﬁlwriteillexpandedfofm :
@E‘m 253417 2x100+5x10+3xl+4x(1)+l ( 1 )+7X(L)
10 100 100 -
, ?_)) 29.41= &7‘/0#-7%[-#1:5 '
i)  3567="—"— s !° Jsxiw l+f~ l
(). 230.321=2Ns> + 3R]oJmor) + 3 i "
12. TRHSSARpI=T TT IS aes USTaql/ Fm(‘{_ the pr'aiuct of decimal numbers
@ 03></Q(9— c0d7 (p2xg3= =06 (i) 12x25= SF¢
13. U9 1/ Find the value: . 74570075 = =2
(1) 768.4x10= T 65:?0( (ii) 765.4 x 1000 = (ii) 01x1000—
14, yE AEEF9I/Fillintheb

e blanks. - — | o

e : 1
RiUpinder.can doi=o \c work inone hour How muh wurk she will complete \112 hours

e |
<Qzl)”wﬂa@1f»— ,L?(,L ’CT%[O’?

TWS-02
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WORKSHEET - 3 nifet T e

(Data Handling)
b :’\‘qu’jjlisﬁwﬁwwﬂmmng e 31 (9709 / Fr
2. HONS = the biggest and smallest number of the data (outsid
et - Mem=_ gzt
‘ Number of obscrvauons

3. FITTIqNe- ad r\%/»\ | | |
H?g‘gzrw ﬁéﬂlghcst Observation -Lowest Observation —_éﬁfa/K :

4. uftraﬂmr
Wmﬂm °r H'UW?;UBT HHI / Fmd mean of first five whole numbers.

- 0T ;a s '~‘Q 2 o
s Wﬁfgﬁ{;ﬁ# ?Hmm@aﬁl/l%dthemeanof irst three odd prime.  _ '
. numbers. , ‘ / Z = ‘
’\7w) Mean ~ 2B i

6. fIT quct T fea rya fferg & =TT Qe (B AT T — oI B
aa*@?Ul/Oulof gives obscrvatxonslhe funiber which obciits faximum called . pﬁf o d& ¥
A=t 2,2,2,3,3,4,5,5,5,5,6,6,8 T HgST UIT 9| o | :

Find the mode of the numbers @@a@@a .

——— o —— e
~

[

-3 .

8. fé?mafswaeuéﬂfwz%m{ g mﬁmym@wa aa-m‘ew -
s ewEluster_ | Ry - - s

After arranging the data in ascending or descending order the mlddle term is called M 62/ Lq ﬂ

9, ‘meféﬁﬁwmwﬁmw T X)
‘Which of zhc fol]owmg statement is true about mewn(t/ or X)

(,) fegfez e f{uzr &S agrad Jig ut fe‘u’%'BE'T EII It dlwdu, the data in two equal groups. U

(ii) feF Frg Ay & yifaw EIEE." Jr/n represcnts the whole group.(___)
(i11) WUHETETH?WUI -/ Jl is sum ol .lll obscrvations (/

‘gz’ o9 feoat f=*5 faoar aus AAt 31/ Which of the following statement is true aboul

Mode' :- (1)f8Uf€'aaW)m'UETUl/ll is lhu middle lcnn( X))

mger Ul/ It occur&nnmmum times in the group )
(i feg g (€9 7 5 <=7 e
iR ER JerdI/ i is the average of two middle terms "
(iif) fog fevadd € (4 | =

. *

-~ 10.

3
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11. 10%@@771*??@?‘8? (R )t fE9)fer g / The height of 10 students (in c.m.) is as
under. 143 131@’139 128,136 146,141,144 )ZL//
(1) @m‘o’mﬁhﬁm{mfﬁﬁtr?Whal|slhcrangeoflhcdalaL_;_) _%.
(ii) kfemeﬁwa’fm%m’rfaﬁ&? = /
What s the average height of the students? @ K
Mean = _JYeT  ~ . )75 7y |
fe N

fevat (5 foargaa it ?/ Which ofthe following is true?
ufagit s Wigge ifenret o ims midifaar gt al
Mean and median of first five natural nﬁmbe Same.

W5WﬁW5wﬁm@?mwg@mW v
Mean of first five natural number and first 5 whole numbers are same. (X )@&@
ufastt 5 yriqaa ifunret o 5959 5 §or §1 Mode o fiist 5 natural numbes is 5.(_><)
. for® wesT=t € Tryge ¥t igr=aT ST ES 1/ Find the probability of following evgnts _

fea Agfeg U Hee I naw ffim i ot frarear ot 3391 7 =T Vﬁ"“"’f‘

=

What is the probability of getting a prime number in throwingadice. (= g%' ) ‘
= - o o ~'. . e, “ - - —
(i) 15T 9fedmiaetfeT Wewazﬁﬂ?eara”rmﬁ? ’;f &9 Lﬁ >
What is the probability of gelting a white ball out of TSted and 9w Is. il

(iii) fé?fﬂﬂf@gmgmméma’rﬁéaﬁ? ';qﬂ yﬁa—@.l -
* What is the probability of getting a hea\d in a toss of cain. )
14 foHa TanTet F9EE3T H9G1 'S €90 W8T HE'S § 94 | Fill in the blariks in following frequency

table. wa| fewfg | T wa|  fuewfey | weEesr
1 B3 I
Jl IE] 2| HUHH N 11N
2 W ? IR TRET
3 4| K] :
I | EI s | e (N g =
B Ry 7 e <y
15. mmwmvwaamﬁm

(i)
’ /r S ™ 1586 |99 [k o [109) T
”"g} 108 {120 | 95 |100] 90
2 ) X0
fifmir ’

Draw abar graph of the following data.

g
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WORKSHEET -4 Fasmiads il

1.

(i)
(ii)
(iil)
@
¥)
(vi)

(vii)

WWWMHHE’HU‘&'ERI/SQIW the foilowing €du? tions-
. - - S [(iv)x-5=-9
Tox+s=9  [ax-5=9 [ x+5="" 55("’)7\ - ~F45
x ol s | xefds| w77 ooy |
x - 4 ol = e B
@509 Jonocses ema=2 gy |Y057 Ten. &
—x =47 -5 | s S L= 4% Sl S
s oty r“‘:ﬁ Ll 2 mf**."" P
1 x)10p=100 (x) 3e=-127 1 | 32=0 T |
p'-‘,/pl’-" "J’Q“L’ L NE g 7’6’;‘#}}2‘; <
= o ﬁ < ke D : 2 IS
P =L el a b = e A TI b
. s 25 3.0 2 (xvi) 3m .
(xiii)k-ix=10 - (x[v) —x=; (XV) '2'}7"3 . . o — 9_5'—‘~, -
: ~ lex2—. "= 1 ' - (}?7(2-_\ Zm 9~’
Pl e N I A O 2l
= A =8 |(x)16=4+3+2) |

% - -
. & mifaget fzw I Wmc qul.lll()ll of lollowms, shtunent

- Jetfegwa g

- (Simple E Equatlons)

xvi) 4p - -2=18 (xviif i+ 7=25

?Pfl&+2 AL :}1&:654 u, ,_'j4-1,g4—£’
| o pd ZEoNE] e mleflae
——=—- (xxi) 7m+l——9/=1'3. '(xxiii)ﬁﬁ.—?zrr%‘(xxiv)’__sg3 , [{~12 =
§ 7 7 377 | 6L <8
.'17++=5 é Mt be | i -//492% :

+1] 7

x'€33_73”ﬁ3 _ ): h:—),_.)’:)
‘lz g6 qre*mst 3 ?WE"E T, 303' The difference of'6 times hand 3 is 10

m e*fea‘ Jaret 79 3 TqJI0ne l‘ouﬂh of mexceeds 7 by 3 /")0_ iR fg__ 7~ r’]
l-/

X, f';é' 8 urer@a‘a 12 an€rar a1 By sublmtlmg,k{ from x we get 12 ZS ~8 = |3

x EfE‘HWﬁTfﬁSW?BH'UB j""frny adding 5 10 oue third of x we 5&!8_‘?:.1-5 4 i
:

11 €7 A7 32 Ul'llu. sum ol 3 umu.s xand 11 is 32

| (fEgadTE T - 3m1@‘efﬁluydddmb>~lo4\m,c L-3. YUA., -~ ~A

fggémgzangéemll}ynddmbmolnltoryw(:guz ; ’ é — p,_
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(@)
@
(i)

@)
@

-
—~— inase’ Sadl . ; » -
i w
B

" Thc vélluc of y, which satlsfy 3y"5 \ .
vi) W p=2, i 50- 3P) e (0 T 80

N
It p—2 then. the value of 3(1 3p)

-~ Weight of a pentagon - : Wug,ht of one Cl’lClL =
. ) e (iv) i e
1 - L i | |
g 1B 28
-_Eﬁ% Lﬁﬁ i tg OO '
A a— - I

o _“_ p‘a"/r"(r o </?
ﬁmwe/ﬂw ’& W?]GEI})QH}W@YW. =
1lé=

promes T8 g .
Weight of a circle and two rect! ““ighl of a cirele andl a rhombus= #-
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\ _WORKSHEET |
KSHEET - 9 Uhﬁﬂﬁfﬂ”f‘?ﬁ | T g
(Rationa] Numbers)

1. I S
y e faaat ‘{TFEEHWF& ?/Wlmh of the followmg, isa 5naturdl numbcﬂ
.o ,h’?fausruam{amq 2/ Which of the following is not a whole number?
i 4 10 -4
3. %f&s‘& " (ii1)
5 Oﬁ‘tr ferast Hua?;rrfwmh ?/ Which of the folltyﬂ;)t an integer ?
(i) - Gii) 1 uv) 3 ‘
4 wEtERt ey, ¢ blanks, ) N
e L; 0 -2 - 4 /—] @
D1 8 RSl B () R
&) = -'1/ . &z@m«@?
5. Efsﬁwhvfaﬂs?mmnfwwm?a?/\wuchon ingrfs not a ration;
| ‘number’? o 7 (u) g (i) v 0
6. 30 ?‘)‘f)Ph"B’T6“Jf:'€'?'f:8'tfl/Wnu,3—‘:)51 in standard form. ——‘?:‘;/7 — @
=4
@(l) -3 113 -2 &5 fdaMmi fiuas Afieiat gor? How many integers are there between -3 and -2

(ii) 3713 4 &9 faaMit AYge Afteret 7% ? How many integers are there between 3 and 4

8. mber is greater and which is smaller?
yich
| 2 ‘
9. 7 TTHIIMF §Be R/ Find nddmvc inverse of T i -

10. W& Y3Tad!/Find the value =]

. (])"'——7')’.2 s "25 (“)5 3j (Ill) ._7_ _5__. 351

86
11, mfa-epyoaa fmfte?gawafﬁ?os‘ﬁwnaalhme? S e
mfavps*owoykaaawfmwénrma?

|
Rahul covers a-distance uf 3 k.mfromP toQand < 1 K.mfromQ to R. Find the total distance

covered by Rahul, ) Q- + Sul {'g §h)'<'aq j'ﬂ,'_lr

-I(m/ \I
/3 ' -3-’("' 7.’ %Q/Q ?r/ﬁ%‘l\cq g
p ¥
R
R ws T
- | . 5 - Scanned by CamScgnner

Scanned by CamScanner

4



{
AT 1 sﬂm@mn@mmmvmar-m*wgﬂ? l

\
lmd\lupmhmnf 3m\dMnmlllpliu\lmmycrﬁc l’!’/71 j/

= A FTATATC I, TR
13, IS e npfegraaud S eE A S B, 35 C; CgD’"’ngA

RT3 7% i e e e AB:-fam w3 uc——fE”ﬁ i,

Anitawalk around a rectangular park from AtoB,B1oC,Cto DandDto

4 \) JA Find the total walkdonebyAmta if AB_— and Bc’i
135 = 4 4 3 *
Al 4 ,'L-f- + -
H 2
14, —4?33‘3)13@8?3?5‘?/Whatlsaddmvcmverseom’{_ ;ﬁi—j—i; ..Z—g
R g 3%

.—Styd -2-1 0 1 i 34 5 6 . ;,4+,5Jr,9‘£ 15 (8¢
15. s fafimt S areawa @z feay) Fmd the mulnphcatwe inverse of the followmg

. _ S 212 92, K
@ T—»l@; th(ii) /57 /,}—2 (iif) % ML? -~

16. IS AI/Solve.
) (2
O TRINE

;22‘13 _32(_12 9
"%/3*/37‘///?{

17. TAEWI Wed aH fea fad1/ Writein ascendmg and descending order. -—
, (D . _
i) 0k (i) 73—3—4 oo
77?4"(@’&)'
w22 @cg = X 5 ey 7 y[;@/ g
18. fauar
. Q'IWW .
&)ﬁ’ () (ii)) =3
19. Y& u3r&31/Find the value o -
2 -3, 3 (-4
M. (-4+3 i) 5+ (i) E—(—@ .-
> B ) o o3| B )5
~xR2 L) AT 53| £ Ty ww -
e v

s é o | ' Scanned by CamScanner J
Scanned by CamScanner



ud

\ 55" <
WORKSHEET -8 it € 2 o S) | 4

—

' (t) 90"/ ’ ,.

10.

‘fe"éamwwﬁf“’

(Comparmg Quant numbcfs-

W@mwmuw uooff°
(i) 40 73 56=

me,,,glamf

5

(iii) 10 fa . w3 SO TR = @(W S
o ffianit & wEUTS U a9/ Find the at;"fo.so/,m//;wsﬁrm.m—» :

(i) 3 for Y. & 300 ¥ied 575 = 1A,

0511
(111)6¥ﬂ‘c'3€"'15m{?§"5'—-‘ =

- P ) Wntenvo q L /y/—

ﬁsfgun@ursfe;g-igwn@w@@ |12 & 22 i) 7 Pr =
g =

(‘) 2:3= 3 c - 1~ /' (ll) 5: 6 ‘Mm“os (> ’ |

5 ot MEUTSt émam/c()mpareg@mf iy 455 s
(i')'567z_47 (i :

. L L ing frqcnom into perccnmge.@
[ 5 5 IlS (Gii) AO o

(il) - = = - tﬂ“’. ey
’5 5 "l. 0.0&-:
. ( )/6 po 7 /(“) 32 ' (l l) m
e | | A ) .

s - %5 (11)150% 700

(025%,7/0 R *C? ’SQQE

= [

S, B
/i (-2 (iii) 0.09% Q/c?'/'/’;'ﬁr;.
/>

/ X2 (o o

fav mnm @-aa'g mow gu fe'g fatl 5
¢ into fractions .uul write Ihc answer in the simplest form. |

com erl ;,wcn pcroonhu,

e
,,,g,,mrmmfzrazaam 9 50% b REMT 20% HST T
If there___
FagTd 7 Sohan hus basket full of apples, oranges and mangoes.
gt nEt @ YSHI %

» 50% mangocs and 20% oranges ‘h‘-" h“d the % of mangoes?
are 507

A % 57) _'mm',

-l
e gny - | e -
_— e s N
1
u}a
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F.- e ,.\‘_..M.w_;,_g;‘ ) l | A .“. ' » - — e Prs- !

' % (20% of 1500
11,  YST&T(Find): (1).200 BT 154 (15% o 200) (”)150 0@ 20 (20% )

L{ ' .
9?%( ?/ - IR X//v‘ = 3o

12, mmﬁ?W2soh@mm, ﬁmﬁgg 40%;1qu337”‘+€’73! Kot &t —

o are girls. Find the
fore3t U &1In a school there are 250 students. Out of which 40% are & 5
o7/ i clsd 7 = /

350 21 & o/

ygradl 13 out of 25 radm_gets

number of lioys

‘ ;.Lsa e
3. zsaﬁﬁwﬁvlammnmm&wﬁ@ﬂ?

cdefcc ve. Fmd theperccntageof non-defective radios. v _r .
| <d2"2/f/3 5. T T3 _

JUg 10000, 7%mwmwmwmfe%rwmﬁﬁrmmm? _
Rs. 10,000 are deposited at 7% per annum, 1i find the interest after onc year.

(s 1) o= Rip = PRIZ P o e
IR . = o°£‘/>7<’l><) ot

14.

| = Jes T4
%mwm@wmwwsﬁafmmfawmkmmw

15. gu¥6050,6.5
523 | Rs.6050 are borrowed at 6. 5% per annum, {1 find the simple interest after 3 years. o

S"’“}’Qﬂ Tnfeners gl @ "z M“” ~ FX@X ’7’

J IDD ﬁ/ |
o i_M ; OS ‘XZQSXZ /i

‘&ef)fmsoa : a@

7?75%
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